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Higher IGCSE (9 – 1) 
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marked

M1

M1

M1

M1

Al

measures length AB and uses figure in next step or uses
56 and 35 to get scale factor

for a complete method to find correct scaled length for
35km

draws an arc from A of “5”
draws a bearing of 300° from B

clearly indicates intersection as required point
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135 Bl for identifying the angle of 70°

(on the diagram). showing

understanding of notation

Pl for process to find an angle in
triangle ABC, eg. for process to
find angle BAC. eg. (180 — 50) + 2
(=65°)

Al for135
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@

®

75

217

MI for 4.5° + 62 (=36.25)
M1 for 56.25 or V(4.5 + 69
Alfor75

M1 for use of appropriate trig ratio eg tan CAB L:
(=075),

ke
M1 for inverse trig shown correctly eg CAB = tan™
45

= (=073),

3 ( ).

4B = st 23 (=00), caB=cost -
e T

08)

Al for 36.8t037 (or 530532 if identified as ACB)
Bt for bearing 180 + “36.8” if “36.8” s not 40-50
eg 21680217
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C shown 3 | MI for correct angle of 70°
M for correct angle of 320°
Al C marked unambiguously in
the correct position
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(@ 049 1 | BI for answer in range 47 to 51

O] 12 2| Ml for line drawn on a bearing of 320° £2°
Al for answer in range 10 to 14
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Yes with
explanation

M1 for bearing + 2 ° within overlay
M1 for use of scale to show arc within
overtay or line drawn from C to ship's
course with measurement

C1(dep M1) for comparison leading to a
suitable conclusion from a correct
method
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6.2

M1 for a method to find an angle
RAB =70. ABR = 50. BRA = 60 or TA,

M1 for substitution into sine formula

Tl

12
sin"60"
M1 for use of sine rule to find AR, AR =

* sin "50" (=10.61)

sin"60"
M1 for substitution into cosine formula
TR?=5%+10.61"2-2 x 5 x “10.61” x c0s20
(=37.92)

Al for6.15-6.2
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64+10=64

arc of radius
6.4cm

drawn with cross at
70°

OR

64+10=64

line drawn at 70°
with cross at 6.4cm

Town B marked

B2 town B marked in correct place
(B1 bearing 070° + 2° or 6.4 + 0.2cm)
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Correct position of
T

M1 for line drawn or point marked within
guidelines from &

M1 for line drawn or point marked within
guidelines from C

A1 for T within region on overlay
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@

®

50

115

M1 for 2,13 +4.5% or 4 41+20.25 or 24.66
M1 for V(2,12 +4.52) or \24.66
Al for answer in the range 4.9 to 5.0

M for a correct method to find the angle at the tower (4) or
the angle at the free (),

eg tan(4) =22 (=214 ) ortan () =22 (= 0.46..)
5 p

M for tarr! (:i) (=64.98.) or tarr! “)(:zsm )

Al for 64.9(8..) or 25.0(1..)

Al for 115 or ft 180 - "64.98..." or 90 + "25.01"
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(@) 1 |B1roraa-36
() 1 |B1rr1os-112
(© Position of B 2 |B1 for a point marked on a bearing of

marked 40° (£2°) from H or
for aline on a bearing of 40° (+2°)
(use straight line guidelines on overiay)

B1 for a point 4 cm (+ 0.2cm) from H or
for aline of length 4 cm (+ 0.2cm) from
H

(use circular guidelines on overtay)

NB. No label needed for point
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230

M1 for 180 + 50
A1 cao

OR
M1 for 360 — (180 — 50) or 360 — 130
A1 cao

OR
M1 for 50 + (90 — 50) + 90 + 50 or 50 +
40 +90 + 50

A1 cao

OR
M1 for a suitable diagram (sketch) with
bearing of lighthouse from ship
indicated and 50° marked at lighthouse:
diagram only intended to indicate
position of 50°: ignore other labels and
markings unless they create ambiguity.
Al cao
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Region shaded

B1 for circle arc of radius 3cm (+ 2mm)
centre  Burford

B1 for circle arc of radius 5 cm (+ 2mm)
centre  Hightown

B1 for overlapping regions of circle
arcs shaded
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Correct 3| Ml for line drawn or point marked on a bearing of 130° from 4
position of C M1 for line drawn or point marked on a bearing of 245° from B
Al for correct position of C
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@

®

Correct point
‘marked

415

M1 for line bearing 300°
M1 for line bearing 40°
Al cao

M1 for “8.3” x 50 000 (=415 000)
Al for4.10-425
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150

1140

MI for 180 —(360—330) or 180 — 30 or 330— 180 or
2 complete diagram showing the bearing 0f 330°
Al cao

M1 for200+120(=12/3 h)
M1 for conversion between hours and minutes
Al for 1 h 40 min or 100 minutes

B1 (ftdep on M1) for 1140





